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a=[1,2,3]
b=a
a = a+[4]
print(b)
A)[1,2,3] B)[1,2,3,4] C) [4] D) s
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A) list.copy( B) copy.deepcopy() C) copy.copy() D) list(
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x=(1,2,[3,4])
X[2].append(5)

print(x)
A) (1,2, [3, 4]) B) (1, 2,[3,4,5]) C) Uas D)(1,2,3,4,5)
fewwz Classmethod 4 staticmethod o o (Lol @gles da WS 0 -4
3,18 g yiws (ClS) LS 4 classmethod (B sl staticmethod Jg )l owyiws oo 4 classmethod (A

Sz 5 oS 29, -5

print{4 3} - {3,2.1})
A){1, 2} B) {4} C){1,2,4} D) {3}

Sz ) oS 29> 6
a={"x":1}
print(a.get("y", 10))

A) None B) 10 C) Uas D)y

G 0 ool ez 510 1) ol g o 5 00l (6N pL slaglogS )] o 45 s 5l po (U eelyme S1-7

A) *args, **kwargs B) args*, kwargs s C) args|[], kwargsl| D) allargs

flunz 23 o5 (29,5 -8

x=[1,2, 3]

y=X

y +=[4]

print(x)

A)[1, 2, 3] B)[1, 2, 3, 4] C) [4] D) Us




foriin range(3):
Ifl == 1:
break
else:
print("Done")
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x = "abc"

y ="ab" +"c"

print(x is y)

A) True B) False
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print(all([1, 2, 0]))

A) True B) False
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print(any([]))
A) True B) False
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print(bool([]) == False)

A) True B) False
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D) None
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plaSza (D G (53,5 osSae (C




x ={True: "Yes", 1: "One"}

print(x)
A) {True: 'Yes', 1: 'One'}

B) {True: 'One'}

C) {1: 'One'}
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a2 . 1=
b2 .,1)-=
print(a is b)
A) True B) False C) Ls D) None
fams o >35> 4> format(3.14156).'{2f.:0}' & Le format() s 0 -20
A) 3.14 B) 3.14159 C) 3.15
(x2S (29> 21
nums[3,2 1] =
foriin nums:
nums.append(i)
ifi>3:
break
print(nums)
Uas (D C)[1,2,3,4] B)[1,2,3,1,2,3] Lol Calese (A
§3,l8 o e 4> open() sl> 4 with open() ;! eolaxwl -22
3y50 4 0 (D 0o Sy (C Job 053 s (B 3 s> A
Sz 295 (29> 23
x{3.2,1} =
y=X
x.clear(
print(y)
A) {} B) {1, 2, 3} C) o D) None
o, sl o>9,> 4> enumerate() b -24
plaSze (D oSl Laas (C Jlode Laas (B pais o laie g uS il o leds (A




(2595 (579> 25

al2 1] -
bl2 1] -
print(ais b, a==b)
A) True True B) False True C) True False D) False False
famd oo 4 Ad, (g9, edliiwl &g o filter() b ygul ;0 -26
s (D Cwed (C iterator <, B ALy Oy guody 0ddb b s (A
Sz ) O (29,5 -27
print(type({}))

A) <class 'set'>

B) <class 'dict'> C) <class 'list'> D) None
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A) del B) pop0O C) pop(key, None) D) remove()
flnz 25 (23> -29
print('5' * 3)
A) 15 B) 555 C) [5, 5, 5] D) Was>
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A)5,2 B)5,1 01,5 D) Uas
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def f(a, L=[]):
L.append(a)
return L
print(f(1))
print(f(2))
A)[1], [2] B)[1][1, 2] C)[1,2][1,2] D) s
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print([i for i in range(3) if i%2==0])

A) [0, 2]

B) [1] Q)[0,1,2] D) [2,0]
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print(list(map(len, ["hi", "python"])))

A) [2, 6] B) [hi, python] Q) 12, 7] D) s
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print(type( (1,) ))

A) <class 'tuple'> B) <class 'int"'> C) <class 'list'> D) Us
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print([i*j for i in range(2) for j in range(3)])

A)[0,1,2,0,2,4] B)[0,0,0,1,2,3] 0)[0,1,20,1, 2R84 D) s
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a={1, 2}
b={2,3}
print(a ~ b)
A) {1, 3} B) {2} C) {1, 2, 3} D) U
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print( 0.1 + 0.2 ==0.3)

A) True B) False C) Ua> D) None

fams o >3, 4> round(2.675, 2) b -42

A) 2.68 B) 2.67 C) s D) o)l ¢yl aas & (Siams




Sz 295 (25> 43
print(list(range(2, 10, 3)))

A)[2,5, 8] B)[2, 3,4, 5] C)[2,5] D) W
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print("abc".find("z"))

A)-1 B)O C) None D) Was>

fCus Mutable o)lse ool 51 G plas’ -45

A) list B) dict C) tuple D) set
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a=[1,2,3]
print(a[::-1] == list(reversed(a)))

A) True B) False C) Las D) None
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print({}is {})
A) True B) False C) Uas D) None
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print(len(set([1, 2, 2, 3, 3, 3])))

A)3 B) 6 C)2 D) None
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